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Managerial Economics-II

Paper - BBA-110

Attempt Five questions. Q. No. 1 is compulsory. All

question carry equal marks.

Time allowed : 3 Hours Maximum Marks : 80

Note :

fdUgha ikap ç'uksa ds mÙkj nhft, A ç'u la[;k 1 vfuok;Z gS A

lHkh iz'uksa ds vad leku gS A

Compulsory Question (vfuok;Z iz'u)

1. State and explain the following :

(i) Say's law of markets

(ii) Propensity to consume

(iii) Marginal efficiency of capital

(iv) Stagflation

fuEufyf•r dk o.kZu ,oa O;k[;k djsa%

cktkjksa dk fu;e

miHkksx djus dh ço`fÙk

iwath dh lhekar n{krk

eqækLiQhfrtfur eanh
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(v) Aggregate demand

(vi) Concept of multiplier

2. Describe in brief, circular flow of income and

expenditure in an open economic system.

3. What do you understand by 'National Income'. How is

it measured ? Explain.

4. Critically examine Keynesian theory of income

determination.

5. State and explain the following :

(i) Life cycle hypothesis

ldy ek¡x

xq.kd dh vo/kj.kk

,d •qyh vFkZ'kkL=k ç.kkyh esa vk; vkSj O;; ds ifji=k çokg

dk o.kZu djsa A

^jk"Vªh; vk;* ls vki D;k le>rs gSa \ ;g dSls ekik tkrh gS \

le>kb, A

vk; fu/kZj.k ds dhusfl;u fl¼kar dh xaHkhj :i ls tkap

djsa A

fuEufyf•r dk o.kZu ,oa O;k[;k djsa%

thou pØ ifjdYiuk

laf{kIr
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(ii) Interest rate determination in classical

framework.

6. State and describe the importance and determinant

of consumption in modern economics.

7. What is investment ? How effective is it to stablise

economics in a decreasing returns scenario.

8. What do you understand by inflation ? Is it good for

economic health of nations ? Substantiate.

'kkL=kh; <kaps esa C;kt nj fu/kZj.k A

vk/qfud vFkZ'kkL=k esa •ir ds egRo vkSj fu/kZjd dk

o.kZu dhft, A

fuos'k D;k gS \ ?kVrs fjVuZ ifjn`'; esa vFkZ'kkL=k dks fLFkj djuk

fdruk çHkkoh gS A

egaxkbZ ls vki D;k le>rs gSa \ D;k ;g jk"Vªksa ds vkfFkZd

LokLF; ds fy, vPNk gS \ fl¼ dhft, A

Li"V
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